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PART -1 (i) (General Studies)
(ii) (General Knowledge of State)
- 1 (i) (FHE T TA)
(ii) T=T &1 FHH §/H

1. 9RdE e & € § -

The sources of Indian history are —

(A) Archeological remains (A) EUE”‘E; 2 (g{lilfi ¥)
(B) Literatures (B) |iiecd .
(C) folk cultures (C) ek Tl
(D) Allofthese D) Tt
At which place Chandragupta Maurya spent 2. ThE M W TR o = $ier o Iffad
last days of his life ? 2 =eia fRd 9
(A) Patalipura () TR (Q
(B) Sravanbelgola ‘ (B) .
(C) Vaishali (@
(D) Vidisha (D)
The Quit India Movement was launchedby 3. F ¥ foredh 3% 89 | 1942 7
Gandhiji in 1942 after the failure of which of ; TRE DS A T R
the following ? '

. a1 7
(A)  SimonCommission % (A) T e
(B) Cabinet Mission Q (B) e fwm
(C) Round Table Conferenc & (©) et geeH
(D) Cripps Mission \ @) e e
At which of the follo pl e Chandra 4. 1931 ¥ 998 A ® frefofaa § @ frg wm
Shekhar Azad was s Q ile fighting in R TR AR A el TER TEE e
19317

A7

(A) Allahaba A)
(B) Patna _ (B) U
(C) Lahore | (C) R
(D) Calcutta . (D) ek

IF w1 % fordl ste / SPACE FOR ROUGH WORK
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Preforf & vt a1 1 el e wE

In Which of the following field the Mughals 5.

contributed to Indian culture ? T gwreH fear 7
(A) Music (A) T

(B) Painting B) FosERaT
(C)  Architecture (f"} - O
(D) Allthe above (D) TRS
Who of the following was the author of 6. Frfeifigd # ¥ S ‘SEA-T-a1all’ 1 d@h
'Ain - i- Akbari'?

(A) Faiz

(B) AbdulRahim

(C) Nizamuddin

(D) AbulFazl

Fill in the blank — _

The form of numerals to be used for the official 7.

of

purposes of the Union shall be the
Indian Numerals.

(A) International form
(B) Indianform

(C) Vikramiform
(D) Shakaform

Which of the following expenditure is ch:
on the consolidated fund ?

(1) - Emoluments and allowan :

(i) Salary and allowance & sident

(i)  Salary and allowan&&] u gés

(iv)  Salary and allowaiices\of Attorney
General *

(v) Salary an &s of Controller and

Aud 1
A O i) (i)
®) O (iii) )
< o (v) v)
®O) @ () )

o= /@ R~ = Gfbg Bl w wiRa g
[ |

(@) Twufa B SuefREr o

() SU-APAT H IqT IR T

(i) =Tl o 9ad SR w7

(v) HEFIRETE! T e SRR

(v) T mecreders o 3 3l
A O (i) (i)

® o (i) V)
< o )y v

O @ . O
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9.  Match the following - 9. gAfed Il :

(i) ThirdSchedule (a) Provisionsastothe G 9 el (@) 3@@\%};{ &3 3R
administration and 3@31—;33 CCSlRE
o il g
reas and sche g
iiilsas (i) =Y eEEe  (b) S & &
(i) Fourth Schedule (b) Provisions as to the o _E % AR A
administration of ' , ST,
tribal areas (i) q%m aga;ﬁ (c) MUY hl U
(i) Fifth Schedule (c) Forms of oaths (v) WSH 3@@% (d) T WA reiie
(iv) SixthSchedule (d) Allocation of seats in & AEEA
Rajya Sabha
(a) (b) )
R B R W 6 @
A ® () G @) ®) G @ 0
B @ vy @ O © Gi) ¢ (W)() o @
© G v O @ O G \) o 0
O @), @ @ O
10. Whatis the objective of Lok Suraj Abhiyan?  10- 1 1 S A ]
(A) Implementation of state policy <fifert 1 e
(B) To complete the incomplete works Eapiiea] ‘1'3? AT
(C) Resolve the Public problems SR Rl TR
(D) To give the benefit of state Govt.'s 0 D) T TFR Rl AT 3R Ao
policies, programmes and plans to T AT R ) wer we

actual beneficiaries .
11. ‘What is /are the function(s) daree 11 R EE- en % wRf 7 g ]
minister of District ? & 0 Rt FET FHA
nt

()  Monitoring of deVd& ks ) T T Eene SR e % e

(i)  Toco-ordinate betw e Panchayat
Raj Institutions cipalities : N

(i) Toco-ordin &h the District i) Forem sraTRE R T W % HeA T
Administ & tate Government (iv) Wi TTEATIeh! el TAHTRYI

(iv) Transtefo ege Professors _

B @ (i) ® O (i) |

e o (1) (i) © O (i) (i)

© O (1) i @) O O (i) (i) @)

& F1 % Tl w918 / SPACE FOR ROUGH WORK
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12. Match the following —

8210/HE-FM/RCE-E

12. GAfIA hITY —
() WomenandChildren (i) Reservation () Hen @A () IARET Al
Development Department Policy ferrer fersmn
(b) General Administration (i) Rajeev Gandhi - (b) TR IR (i) TS e
Department ShikshaMission . e
(¢) Co-operation (i) National Maternity (c) TeHe Fwr (i) TS A oY
Department Benefit Plan ST
(d) School Education - (iv) Toestablisha (d) v fuem fovm (iv) el # wigen e
Department Mahila Nagrik I <l T
Bank in the @ ® © (d)
District = ¢
@ ) (© (d) A @ @) & (i)
A @ @ O (1) ®) G G (i)
® G & ® @ - Q _
© @ v) (@) ) © (“) 1)
O @ @ o @ 0
13.  Where is Sepet located in this State ?
(A) Rajnandgaon 13-
(B) Raipur
, (C) Durg
(D) Bilaspur '
14, With the help of which country Iron and Ste 1@
was setup in Raurkela ? < ﬁ'\ 14, TSThe # R QX % AN ¥ i W@ S
(A) England \Q HIEAT ST T AT ]
(B) - France & (A) T
(C) Germany \ B) ¥
(D) USSR 0\ (C) <t
15.  Asper2011 Census, @ Sut Tehsils in (D) Fo THo THo IRo
India. \ 15, 2011zﬁrww%ﬁaqgwwﬁmw
(A) 75000% BRUGR)
B) 5000-6 (A) 75000
(C) 176000 (B) 5000 - 6000
(D) None of the above © 76000
D) STEH H W B T
T % % ford STg / SPACE FOR ROUGH WORK
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*16.  What is the name of Alrstrlp in the district 16, aﬁwg{ o o g q}ﬁ 1 M TA™L —
Ambikapur ?
(A) et

(A) Dhamal
B) vDaria ®) e
(©) Dogi et
(D) Dildili | . (D) Reafel

17.  Which is the biggest salt lake in India ? 17. WG B G 98 i ghe Ae-e R 0
(A) Kolar | | (A) HRIE
(B) Chika ®) T :
(C) Krishnaraj Sagar © W TR @
(D) Nagarjuna Sagar (D) FTPTITg‘;T ‘HFR

18.  Bombay High is famous for— . 18. dRwd forep f;—,,a
(A) Shipindustry
(B) Mineraloil
(C) World Trade

(D) Tourism T :

19. Why multipurpose River Valley Project is ' i Tcﬁ el q‘F{ZﬁGHT o1 femior = fern
constructed ? ¢ 6 IR 7
(A) To produce electricity % . @A) ﬁ@ Seared 3 g
(B) Todevelop canal's irrigatiKQ B) T T ol o # & forg
(C) Todevelop tourism (C) wEAH Torerrer e fom
(D) Alloftheabove \ (D). IWreh Tt |

20. Onwhichriver Hir u*mconstructedm 20, e # -@@ug wier fre 7 w fftfa fe Tn
India ? al& % 7
(A)  Sutlej. Q (A) T
(B) Godavari (B) Tﬁaﬁﬁ )
(C) Mahanadi (©) =
(D) None of the above ®) gq-g—ﬁ 3P ad

T M % ford 91g / SPACE FOR ROUGH WORK
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21.  How many industries are required compulsory ~ 21.

ST QU % st TR B e SE

licensing under economic reforms in India ? foru atfard e0E U A HEawE B 7
(A) 03 (A) 03

(B) 05 By—05

() 07 < 07

(D) None of the above D) 9w 4 q %K 7@

22.  'Which is commercia] crop of the following ? 2

(A) Wheat
(B) Maize
(C) Cotton

(D) Jowar

23.  Whichisknown as Heavy and Basic Industry ~ 23.

XN

~ inlndia?
(A) Textile Industry
(B)  Sugar Industry

(C) Jute Industry QZ )
(D) [Iron and Steel Indus\x\&

24. Agriculture and allied se
— % intotal lue added (GVA)
of India during 2(% .
(A) 117 %\Q “
B) 134 %
©) 17%
D) 182 %

o contribute 24,

= vt 7 - s waa ® 7

Aa) T O(Q

(B) He=t ()

© . .
D)
51 Tohe) ST T TR ST AT STl 8 7
) Vg i
(B) = FEm
(C) g
D) itg T ST FEm
Y 3R g 4 3 7 2015-16 % IR TR

o TR e q (ST AL ) F T %
T Qe feRaT |

(A) 11.7%
B) 134 %
©) 17%

D) 18.2%

6 %R % Tl 978 / SPACE FOR ROUGH WORK
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Which one of the following is not a major cause

5. fre § Q -1 UE el AT T FARHE

25.
for global warming and climate change ? e T R &9
(A) Carbon dioxide emission (A) T CETRITES S
(B) Deforestration B) Tl Y e
(C) Methane emission (C) o2 S -
(D) CFC emission D) ¥ T T SedeE
26. While measuring GWP (Global Warming Eaa it ORREE (GWP) % AE #
Potential), the gas which is taken as standard N =1 T fom S R 7
is—
(A) Methane ‘ .(A) fier.
~ (B) Nitrous oxide (B)
(C) Carbon dioxide ©)
(D) Sulpherhexafluoride (D)
27. Biodiversity is highestin: 3
(A) TundraZone (A)
(B) Prairie Zone
(C) Torrid Zone e &
(D) TropicZone TR &
28. Consider the following statements inNgcle& TEHARR e e % e e el W
Power Reactor : R SifT -

material.

1. Uranium - 235 is used as @

2. Graphite is used ator.

0
3.  Rodsoflead araousﬁ controller.

4.  Liquid sodi s&d as coolant.
Correct statex& q

A 1,
(B) 1,2and4
(C) 2,3and4

(D) All are correct statements

1. RFEE-235 % I Feve @ &

O A EAR |

YFTEE o SUAW Hedh b w9 § B § |

e 1w SuaT R e AR |

4. ¢a Qe W swm dees % w0 A
e |

T PG

A) 1,2 @3

@) 1,2 @4

(C) 2,3 @4

D) af F

w N

TF w1 * for 5918 / SPACE FOR ROUGH WORK
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29.  Whichone of the followmg organ breaks fat to
produce cholesterol ?

(A) Intestine

29.

Pt 3 @ -1 T o A R
AR I T 8 7
(A) 3id

—B)—Liver———

(C) Lungs -
(D) Kidney

30.  Amongthe followmg electrolyte solutions, the

pair of solutions having pH more than 7 is :

(A) CH,COONH , (aq) and

(NH,),CO, (aq)

(B) FeCl(ag)and CuSO, (aq)

(C) NaCl (aq) and KCl (aq)

(D) CH,COONa(aq) and KCN(aq)

31.  Various tribes of this state consider their orlgm

from a particular object, That object is called :

3O
®\
o
\/\

. (A) Gotra
B)
©

®)

Totem
Yorung
Sarung.

32.

(A)
(B)
©
D)

Dhumkuna
Kaksar
Sarhul

- 30.

Which of the fo the chief festivalof 35
the Oraon trib ‘

B) =R
(C) e
(D) fredt

 Forege e 3 foret et @ v v g

%1 pH >7 @ 31férs

T CuSO, (aq)

- ®

CL(aq
(aq) W KCl (aqg)

e i fifim seenfoat s sgm u
faRtme o & A 2 | 98 o weA R
A) =

(B) drw

(©) w7
(D), R
- Trafafea & @ H-w 27

= (A) s

®)

(C) *HAR
D) TEa

W %1 % ford 12 / SPACE FOR ROUGH WORK -
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As per the new WorldiWea
of the following ’upies position after

India ? \

(A) Jap
B) China
(C) France

(D) Germany

33. - By which of the following name the marriage 33 freffas § @ o @ 58 U &l Sl
glflel?id‘;lctwn among the tribes of this state is # arew fETE H TR 29
(A)_Lamsena (A) TR
(B) Payasotur ®B) W’i{

(C) Duku © =B
(D) Guranwat (D) e

34. For which of the following dance style the 34, frfaRea & 3 fra ¥ o =@ v
'Raigarh Gharana' of this state is known ? 1 T ST
(A) Bharat Natyam (A)

(B) Kathak '
(C) Kuchipudi
(D) Kathakali
35. Inwhichofthe follo;’ving year Gandhiji first F Y for ot § miefisht 4 3@ T A
_ visited this state? ‘ Q AR ¥ 9
(A) 1918 . 0 (A) 1918
B) 1920 % B) 1920
(C) 1925 ,<Q (C) 1925
(D) 1933 ° \ (D) 1933
36. eport, which 36.

T 3T SFTE SR 7 :

(A) SHUH

®) W
(C) WM
(D) WAl

TF FT9 % ford 518 / SPACE FOR ROUGH WORK
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37.  Gurucharan Singh Kalkat was associated 37. TeeRv g weree fhe iqiqf’aa §9

with -
(A) White Revolution (A? Sl
(B) GreenRevolution o By & il
(C) ChipkoMovement (C) Femedl SricIe
(D) None of the above (D) W A T S T
38.  Roger Federer created history by winning — 38, TSR the® 1 for Sffeeme w7
(A) 21 Grand Slam
(B) 20 Grand Slamtitle
(C) 19 Grand Slam title
(D) 18 Grand Slamtitle

39. Mr. D.N.Sahay was

Chhattisgarh State. Q

(A)
B)
(&)
o)

40.  'Who has been appoj n@w
Govemor of D

(A)
®)
©
D)

Governor of glo THo UEH Tidie U h

First *

Second %

Third . /<Q

None of the abovi\L\ (D) EH H A B T
s

ieutenant 40. Teght = wifterie R Rty e femarn i 37

Tejen a (A RS
Vijai Kapoor B) 1= FR

| Anil Baijal (C) A =t
None of the them (D) T AW *E T

¥ % % fordl S1g / SPACE FOR ROUGH WORK

8210/HE-FM/RCE-E - [12] Set- A




PART -1I (General Mental Aptitude)
AT — 11 (ST HFARIE T

~41. Choose the correct answer . 41. T8 IW BT
Energy : Joule : : Volume : ? .
T St :: 3T ¢
(A) Kilogram
¥ ) Freom
(B) Litre | ®) -
(C) Solid : O aa
(D) Capacity (D) &mdl
42, Find out the wrong number from the following 42 freifenat 3t 9oft A e i1 Sl T AR
number series : S T iU c)
. * '
4,26, 163, 1149, 9201, 82809 " 4 V?, 1149, 9201, 82809
(A) 163 ( »
(B) 9201 Q 9201
(C) 82809 R 0 (C) 82809
O 26 % O 26
43. Write the missing number fr &iﬂg 43, Tpifea fered B A T8l foerey e @A Pl

alternatives : X i ;
1 2 N B
11 1m|71Ss
? ' 120 45 | ?
(A) 16 ' A) 16
B) 17 (B) 17
(©)w- 15 : ' (C) 15
®») 19 ' ») 19

T %1 % ford setg / SPACE FOR ROUGH WORK
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44. (@) Six friends P, Q, R, S, T and U are
members of the club and play a different
game of Football, Cricket, Tennis,
Basketball, Badminton and Volleyball.

(@)  Twhoistallerthan Pand S plays tennis

. T IE P Q,R, S, T 3Rk U el 7w
3TN - W Tl & |
(TP AsSTIare Fadeas |

44. ()

(i) Thetallestamong them plays Basketball.
(iv)  The shortest among them plays Volley
ball. ]

Q and S neither play Volleyball nor
Basketball. -

R plays Volleyball.

T is between Q, who plays football and
P in order of height.

Who among them plays Basketball ?

(A R

B S

<€ Q

) U
45.  Select the diagram which illustrates the best

V)
(vi)

(vii)

relationship among : Pigeon, Birds, Dogs, fro
the following four alternatives — K“Q

(i) STH U TIY S TCReE Qe B
(iv)
)

I W GBIl dieEier wedl gl
Qa?R s T gl arelaie eld & 3R T 8

(vi)

(vii)

4 <R e § 4w forer B <
el g 35 e 7 q A —

O

(A) &
> 00N\
&

©

<

(A)

® QO

@o
D)

T % % o’ 5778 / SPACE FOR ROUGH WORK
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46. IfAmeans—,B,means+,'Cmeans+andD 46. e A FHAAT -, B wUAGAS + , C o AqA

means X, then— +3ﬁ(DWW‘X%?ﬁ—
15B3C24A12D2="7 - 15B3C24A12D2="?
(A) 34 (A) 34
B) 2 B) 2
o 2 o 2
© 3 © 3
D) 5 , ® 5

47 Atotal of 324 Coins of 20 paise and 25 paise ~ 47. 20 ¥ 3R 2 24 Tsn frerR 71 Bo
make a sum of Rs. 71. The number of 25 paise ¥ Frad T & |
Coinsis— ' '

(A) 120

@) 124 : '-

©) 200 \Q

D) 144 %0 | o -
\Qﬂo 48. W& =Mt 5 Hex WA FE R M IAh A5
¢)

48. A man walks.5 meters strai _ )
meters to the right. After thy ntiiuously 10 Hiex it SR <Iela § | SHeh UTAld T8 TR
turns left and every tim ,5and 10 aft @R gea 2 g 10 W, 5 Ax

meters respectively. Howmfabis he from his 10 He = % | ?Rﬂ'éq 8 3 RiYE E O
starting point ? . : 3

,\' fepert gt | % |
@A) 4 |

‘Té\v : o @A) 4 el
(B) 6km ’ (BY 6 Frt

| (B)
(O] ST _x R © s
(D) Can't be determined @ ™ & 1 gwa

T ® % Tl s1g / SPACE FOR ROUGH WORK
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49. There is a group of five persons K, G, H, R 49.

and J where

Uil AT K, G, H, R 3R J 1 0 ag 3, &

| @ K, G3RHIEAH 3
) K,GandHare intelligent
i (i) KRH \.:-|u1t1r?{3tr-'r1':r'i_\'ﬁ§
(iiy K, Rand T are hardworking . §
() R, HandJarehonest () R,H 3R] AER &
(iv) K, G,and]J are ambitious (iv) K,G3RJ HgcaThiet 3
Which of the following persons is neither hard TART AT QBT A& TR Fa & 3R A
working nor ambitious ? & meeaFia 3 | &
A G A) G Q
®B) K (B) N\ o
o o
D) I )y T
50. Choosethe missing number : ' Q e wm 9 . }
40 O 40 15 65
S )
10 10 18 8
25 25§ 15 28 10 27 ( 35
(A) (A) 20
B) B) 38
(o) ©) 30
(D) 40 D) 40

T &R F fordl W71E / SPACE FOR ROUGH WORK
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PART -III (General Mathematics)
T — IT1 (| IT0T) |

51. A number when divided by 49, leaves 32 as
remainder. Then the remainder when the same
number divided by 7 will be :

51. e G A o 49 A o fra S &, o
SR A 32 ST § | A 9@ 7 @ R

o o e L el Ny
el St al e &t

A) 4

(A) o
B) 3 , b=
© 2 ©) 2
®) 5 ®) 5

52. Thevalueof .3/10648 ~ 3/5832’ will be 52. %648 " ;’[5832 T 7
(A) 396 (A) 39 0
G216 ®) 216 o ()

(D) 576 D) @

53.  Find the largest number which when divided 53. & e - 2 9 411, 684, 821
by 411,684, 821 leaves remainder as 3,4, 5 ) , ’ ’ s
respectively — FRA h FeReasy FHE: 3, 4 71 5

g7
(A) 136 -
QY o x
e . B) 204
SR & (C©) 254
(D) 146

®) 146 \

54. A person goes to one placox eed of 4
km / hr and returns at @ﬁo 16km /hr.
The average spee is Whole journey is :

(A) 45 kmﬂo

B) 54km/hr
(C) 6.4km/hr
@) 6km/hbr

54. e =t PR wW @ 4 Redt/de B e @
el @ 16 TR /e = @ et B, @t
S G T S S A
(A) 4.5 freft/Ha
@B) 5-4 Frt/Ha
(C) 64 ferelt/=a
(D) 6 Frrt/ae

% w1 % o8 5918 / SPACE FOR ROUGH WORK
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55.  The selling price of 12 pen is equal to the cost 55.
price of 20 pen. Then the profit percentage

12 W g e, 20 U % A T
TR 2, T AT Ffrer &

will be :
A 40% (A)  40%
2 B) 665 %
B) 663 % 370
C) 55% € 5%
2
(D) 55%% D) 55@@

56.  Which principal will at 4% per annum simple 56.
interest for 6 years become ¥ 496 ?

7 496 & St 7

%ﬁ%éaﬁﬁ4%aﬁ$mwm

(A) T 456 éO(A) T 456
B) T 500 | ®B) T 500
(C) %400 6 (C) T 400
D) 460 D) T 460

C:Awillbe— o

L 2
(A) 10’-6'
» M

© 9:10

57. IfA:B=3:4and \\&é:,then value of 57.

D) 8:9

AGA:B=3:4TMB:C=6:5AC: A%
= g

(A) 10:9

®B) 9:8
€ 9:10

D) 8:9

T %1 % fordl 98 / SPACE FOR ROUGH WORK
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58. Fromthe given figure, the value of x will be—

5. e o @ x @ A T S —

A A
/1%4\ 114°
133° 133°
330 330
B C C
A) 19° @ 190 @
(B) 23° B) 23° O
©) 15> ©)  15° ¢ ()

(D) None of the above

59. The ratios of parallel sides of a trapezium are in

the ratio 2 - 3 and the distance between them is

12 cm. If the area of trapezium is 480 sq.cm,
then the length of larger side between paraliel

sides willbe :
(A) 36cm
B) 42cm
(C) 48cm
(D) 56cm

60. Three cubes meas

melted and a new
the surface

(A) 294m?
(B) 324m’
(C) 486m?
(D) 468m*

&
O

*

is e out of_this, then
is,new cube will be — -

59.

=

6m and 8m are 60,

*

D) IS El
@3%%%@2:3%3}@(6
Ik wem ot 12 Ot 3 | e wwer

1 AR 480 = el &, T THicR St

B ot e it g gl

(A) 36 Tt

B) 42t

(C) 48 THl

(D) 56 Tt

1), 6 H T 8 7t WaT et 3 B <hl fUEetER

TR 1 T ST ST 8, A 39 79 94 bl T8

T GHERA BT — ,

A) 2947
®) 324
©€) 4867
D) 468 7’

IF FF % T s91g / SPACE FOR ROUGH WORK
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PART IV (General Knowledge of Computer)

— IV (F¥R T T THRR)
61. Processed data of Computer 1s called — 61. W &1 gaTiea d-[lf.hSl T hgetdl %’7
(A) ~Input (A) =9
®) Ouput | B) RE
(C) Process (C) W
(D) All of the above (D) ST gl
62. The basic goal of computer process is to 62. FHR URA H JI A A Al H
convert data into — qEI B |
(A) Files (A) Wéa
(B) Tables (B)
(C) Information : (C)o ;K)
(D) Graphs
63. . The most common input devices aré - 63. e gﬁﬁ 3
(A) Keyboard, Mouse ) Keyboard, Mouse
(B) Microphone, Speaker (B) Microphone, Speaker
(C) Digital camera, Printer (C) Digital camera, Printer

(D)  Scanner, Monitor (D) Scanner, Monitor

64. Whatallowsyoutoprmtonb@ 64. U F A O @Erd w9 U e wE A
automatically ? aﬁqﬁ 333
(A) Fuser \& (A) Fusér =

(B) Duplexer \ (B) Duplexer
(C) Toner (C) Toner -

D) (D) Paper Swapping Unit
65. AMi 65. mEhEmE e T 7|

(A) Operating System (A) Operating System

(B) Graphic Program ‘ (B) Graphic Program

(C) Word Processor (C) Word Processor

(D) Database Program (D) Database Program

T FF % @ s1g / SPACE FOR ROUGH WORK
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74, ‘FOR R -

(A) fderees wE |

B) maama’m

(C) <aftharae |al
(D) W @
75. zﬁrﬁaﬁ‘é’f&)o
¢
. 'ﬁ‘
®)
L 4

O
@\ ©) s
&Q 76. T AW A B AT G
Q.\\

’\' (B) THM G W Uler HEAT
A\,

A el H 9 §

(C) 6T

(D) WA H ekl

TF FR % ferdl WTg / SPACE FOR ROUGH WORK
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78. fematoRaa “sﬁmzé@ﬁﬁﬁwﬁ

@ ) feim s i

Q 79. T N M 3 Bl & —

: ’\\ (A) T
’\’& ®B) far

(C) form

O) Frae

T %1 % o3 st / SPACE FOR ROUGH WORK
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‘80. T UFR & —

(A) @&

(B) 4

(C) 3

D) A
81. ‘éw’ﬁﬁa—mmaoQ

%430
O
N,
& 82. SN mRw g )
BA\!
O
\é\v B)
© 3w
(D) W
T & & T 1€ / SPACE FOR ROUGH WORK
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83. ‘Wed H Vg WY H A E -~

(A) =S 9

(B) wRAM

(C) Frwtdt

D) Eﬁﬁzﬁé%@
84. ‘W’ﬁu@w%—
L 2

&
)

= Gl
\Q (C) ot |l
\&&O D) T A HE @

85. AU A g A I W AT 7
(A) T

\’& B) T

© w=m

{D) Wrererrereh T

% F1d % fad w18 / SPACE FOR ROUGH WORK
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PART - VI (General English)
T - VI (W SUsH)
Everest is the highest peak.

86.

(A) - The

B) A
(C) An

(D) None of the above o . @

87. 1 am very now. Would you please

come later ? c)
TS
) 2
(A) Dbusier Q\ ‘

(C) busiest :
- Q
@) busy @ |

88. Pleaseleave your shoes th\& :
(A) by 0\

B) over ’& )
A\

©) to

D) m

T F1 % fordl S8 / SPACE FOR ROUGH WORK
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89. Give one word for the underlined part of the

sentence :

Your handwriting cannot be read.

(A illoaieal

(A)—illogical

. (B) illegble

(C) unclear

D) illegitimate @ :
90. Choose the correct antonym for the word C)O

“Remote”. .

\ ¢

(A) Near O%

(B) Device

(C) Rare . Oo

(D) Callous @
91. &ment:

Give one word for th X

A doctor who studit:& ogyisa-—

(A) cm@ ¢ |
®) %@ |

(C) Pathologist

(D)  pediatrist

T HE % fad 518 / SPACE FOR ROUGH WORK
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92.  ‘Thebottle has been opened.’

The active voice for this sentence would be :
(A) The bottle has been opened by her.
(B)—Seme beottle has beemropened:

(C) She has opened the bottle.

(D) Thebottle is opened.

93.  “Theroom was decorated in vibrant reds and @
yellows’. Choose the word which is most O
nearly opposite in meaning to the underlined
word in the above sentence. .

\ ¢
(A) occasional O%
(B) shabby '
(C) pale Q
- . O
o >
94.

Find the misspelt word — &Q
(A) Muhammad Al 9\\

®) disemible \’&
() likable \Q

(D) subtly

Y% %1 % ford WTg / SPACE FOR ROUGH WORK
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95.

to gas central heating will save youa

lot of money.

Find the correctly spelt word from the following
to fill in the above blank.

(A)

®)

<€)

D)

Conversion
Convertion

Convershion

to show where something should be inserted .

_ Convarsion
96. Youusea when you are editing a text, @

Choose the correct word from the following to " C)

(A)

©
(D)

complete the above sentence. \ .
Carat O%

®)

Caret

Carrot 6Q

Karat

97. Outof the four alternatives giv; eone

that can be substituted fo

Putting off till another t’A\\

A
®)
©)

(D)

Prblifera@ ¢

p n
adulation

sublirflatibn

TF &M & frd 918 / SPACE FOR ROUGH WORK
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98.  Select the word which is nearest in meaning to
the underlined part in the following sentence
India has made spectacular progress in science
and technology. ‘

(A) remarkable
(B)  formidable
(C) slow
(D)  super
99.  Change the voice of the following sé_nte_nce ;
Some boys were helping the wounded
pedestrian. ' 0
(A)  The wounded pedestrian was helped by ()
.

some boys. \ .
(B) The wounded pedestrian was being A Q
helped by some boys. O
(C) The wounded pedestfian had been helped -
by some boys.
(D) Thewounded pedestrian has been helped OQ
.

by some boys.
100. An Australian said to him, “Is not your pa %

Sachin”. '

Change the sentence into indirect s tencey

(A) AnAustralian told him is Jis\pakpe was
not Sachin.

@
(B) An Australian a@at his name

was not Sachi
(C) AnAustralian enQuired whether his name |

was not Sachin.

(D)  None of the above,

& %19 % {3 T2 /SPACE FOR ROUGH WORK
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I sifRd WA W wWA . 2 °e : wfireraa 3 : 100

— Time for making-answers——2 Hours _ : Maximum Marks : 100 |

1. @ v g § 100 v ¥ 9% yW 1 % w E | W T g w0 afEd 7

2. wm (1) (i) g WewE (i) U9 % W {E 1—40, WA (2) ¥ AHids FmEdl
41-50, wmm (3) @ Tt 51— 60, W (4) F7gel &7 ST 61-70,
i (5) aWe R 71— 85, W (6) wmw=a ISt 86—100.

3.mﬁaswanéomhw-m( maﬁa@

4. Hﬁw%§1maﬁﬁa%mm%w FE W 1/4 3w @
SIDUEN

5 frft ff 9& % SOgAR T AWM WE W ] W aia 2|

6. OMR I-T% (=R ¥e) 1 W @ FE J@EYE T Wa w98 we

I W 3IEH Hig-u fueee Rk ws Fea®y 98 @Ud 8 IH |

2

S

Notes
This quéstion booklet- & questions. Each question carries 1 mark. Answer all

questions x

This question bogklet Gensists of parts namely :

Part (1) (i) Ger&a dnes (i) General Knowledge of State 1— 40, Part (2) General Mental
Aptitude 41 (3) General Mathematics 51—60 ‘Part (4) General knowledge of
ComputerNg1-%70, Part (5) General Hindi 71— 85, Part (6) General English 86-100.

Indicate your answers on the OMR Answer-Sheet provided.

4. . 1 mark is allotted for each correct answer and 1/4 mark will be deducted for each wrong

.. Answer.

Ry

" Use of any type of calculator or log table and mobile phone is prohlblted

While using _Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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